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AT —1/ PART — |
a1 fa%E 9 RRN9 / CHILD DEVELOPMENT & PEDAGOGY

fdsr : Foran 259 & gav 47 & v ged el R g

Direction : Answer the following questions by selecting the most appropriate option.

1. FEiEm & a9 e R 1. Which of the following is nmot a
i & T e 78 & 2 | subordinate law given in 'trial and error' ?
(1) FE-agFn # Fam (1) Law of Multiple response
(2) sty @1 Fag (2) Law of Attitude
(3) =g @ (3) Law of Exercise
(4) i e @ e (4)" Law of Response by analogy

2. TS & SER e W @ 2. According to Piaget, the age range of
E o B |11 T R e 1 1 el o the substage 'mental representation’, of
&g e the sensory motor stage is :
(1) 574 § 1 918 (1) Birth to 1 month
(2) 498 A& (2)" 4 to 8 months
(3) 8912 5@ (3) 8to 12 months
4) 187 F & ad (4) 18 months to 2 years

3. Wgse e "E # o g 3. The psychologist who tried to develop
dqel & fesidt & owEm @ g a learning theory using principles of
e fowia Pefm #9 @1 omm topology (A branch of mathematics) is :
foar, 98 % -

(1) #¢ dfa= (1). Kurt Lewin
(2) FrriE we (2) Sigmund Freud
(3) FewEm (3) William James
4) R (4) Skinner

Level-2/1210 P.T. 0.




AP £

Ao o Z=go o U, 2016 H
gga Freifdd # & B9 Rew
9T A A H IEelT 78 &7

(1) ofte &aa & ot
(2) gHftTsR e
(3) afteart =
(4) ¥ 4 # 7

gfige o oRYE 3 AR A I
wd fem & oo BFar o &, s B

(1) =TS Jedis
(2) AR IedigA
(3) W eI

(4) T & B T8

R 3 T # F@ & o Tewd @
qu B ¥ o o @ w9
ey RFam oaT ¥ 1 98 SERE @

(1) THREE GeeH

(2) =" ;|

(3) TETEF FFeT H
(4) TefHE ST H|

gifteTor &1 Avgar F faw B B
(1) dadt T e o

(2) yd i o §

(3) T dhraeE sEen §

(4) 90 H & .HE T

Level-2/1210

[4]

. Which of the following is mof an

example of children with special needs
as per RPWD Act, 2016 ?

(1) #Acid attack victims

(2) Cerebral palsy

(3) Children with visual impairment
(4) None of these

Testing used during instmction to aid in
planning and diagnosis is known as :

(1 F‘um‘laﬁxe Assessment
(2) Summative Assessment
(3) Normative Assessment

(4) None of these

The teacher said Rekha that she is not
allowed to participate in Game period
as she has not completed her home

work. It is an example of :
(1) Negative reinforcement
(2) ~Punishment

(3) Positive reinforcement

(4) Tangible reward

The ability of classification develops at :
(1) Sensory motor stage

(2) Preoperational stage

(3) Concrete operational stage

(4) None of the above



10.

11.

sfteaitn st 39 B wER @ R
arEll weElit a9t e ?

(1) dfear smia
(2) 39 "
(3) i
(4) 39 & w1 T

wiefei #i daeg & T E
(1) 3= 430 & &

(2) ¥o dlo FETA F &
(3) B8 % &

(4) el & &
i § @ feae o= @ e @
(v @l wie) AF E 7

(1) wias

(2) fEm

(3) fFT

(4) o i

Fiien o G A e ¥ dEETE
e I gEies Ao ga S
(Socially Mediated Process) & &9 ¥
& 8 7

(1) &9 e R

(2) amifas afem faeia

(3) w=ree foamE

(4) o awm faei

Level-2/1210

[5]

10.

11.

[B]

Which type of teaching material is most

effective for a child with visual

impairment ?

(1) Video based
(2) Visual material
(3)- Tactile based
(4) None of these

Modelling is the concept givenby :
(1) Albert Bandura

(2) J.B. Watsong

(3), Freud

(4) Vygotsky

Which of the following has viewed the
child as 'Tabula-Rasa' (Blank-Slate) ?
(1) Freud

(2) Piaget

(3) Skinner

(4) John Locke

Which of the following theory viewed
cognitive development as a socially
mediated process 7

(1) Socio Cultural theory
(2)~Social Learning theory
{3) Psycho Sexual theory
(4) Sign Learning theory

P.T.O.
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12. T §F 9% & =1 Feal & & g 12. A three year old boy says, "The sun is
Fiftd &1 98 TF 6T © angry’. It is an example of :
(1) THIFH=H (1) Animism ‘
(2) SAFED=ET | (2) Egocentrism
(3) STEAEAT H (3) Criticism
(4) SFTa (4): Intuition
13. Fr=iifm & & @9-71 T B0 R M 13. Which of the following is mef a type of
g & o H A o uH J8 87 Intelligence as given by Gardner ?
(1) @i = gheman (1) Musical intelligence
(2) =iftEe e (2) Spatial intelligence
(3) EGERIEGES 3%"-‘&"?!1 (3) Interpersonal intelligence
/ (4) s gﬁ'ﬁlﬂl (4) Analytical intelligence
: 14. "TEACCH" F¥%9 affuesiom: R v 14. "TEACCH" programme is mostly used
' % g% & e & e oghe oo to teach children with :
T & 7
(1) %&or =g JwH (1) Hearing impairment
(2) ROt I (2) Gifted students
(3) dfaE seam O TS (3) Intellectual disability
(4) &ffieH (4) Autism
15. Fr=iitem & & fraq 9= # Afos o 15. Which of the following studied moral
T AeEe e 7 development in children ?
(1) Fgaa & (1), Kohlberg
(2) fE= 3 (2) Piaget
(3) (1) @ (2) & (3) Both (1) and (2)
(4) &9 & FE 7l (4) None of the above
Level-2/1210



16. o ot 99% "8 § onfay ¥ 399 Rar
S G & R degw @ @ éfm

FAE ?

(1) Rer orgam
(2) = I
(3) Feart afgaa
(4) =T ST

17. 7 Frow thesm & & o o= &
AT TEYT I9FI0 fGEEE BT B 7

(1) a3
(2) S
(3) aTgiE
(4) 3H wfE

18. w1 & Wi daws ofmm s
ferepfem fopmr ?

(1) T3
(2) el A

(3) @rgaw A
(4) fars 3

19. sgdfs. Riaia Rar mr o

(1) s B9 & 3
(2) s fEs & B
(3) 892 MEN & B
(4) S & BT

Level-2/1210

[7]

16.

17.

18.

19.

[B]

Providing salary to the teacher at the
end of every month, which schedule of
reinforcement it reflects ?

(1) Fixed ratior

(2) Variable ratio
(3) Fixed interval
(4) Variable interval

Who proposed that all children have
language acquisition device ?

(1) Piaget -

(2) Chomsky

(3) Vygotsky

(4) Dan Slobin

Who proposed Advanced Organizer
Model of teaching ?

(1) Bruner
(2) Pavlov
(3) Ausubel
(4) Piaget

Multiple Intelligence theory was
proposed by :

(1) Alfred Binet
(2) Jean Piaget
(3) Harward Gardner -

(4) Jensen

P.T.O.
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waE 3 Fere e e @
AN ‘qET FaeEr & Ag g e

20.

(1) 59 & o 79
@) 4§ & af

(3) 9 & o 9
(4) & & B T8

21. doiEly i o R aE #3850 F
531 8, el 8 i
(I}Hﬁﬂ?ﬂiﬁvﬁf
(2) s S
(3) drHiv i
(4) e wf

22. 9% 3 F AW (Triarchic) feid

e fomm 2 7
(1) &

(2) fa=

(3) di-ieR®
(4) Tt

% M o s & e giesr &
T 78 B, ¢

(1) &Arar & Few
(2) Femear 1 FEH
(3) F & FEm
(4) I @ FEe
Level-2/1210

18]

20.

21.

23.

According to Freud the age range of
'Oral

development is :

stage' of  psycho-sexual

(1) Birth to one year
(2) Birth to two years
(3) Birth to three years
{4) None af these

The long term mmo%fur 'how to do
things' is known as :

(1)<Procedural memory |
(2)" Episodic memory ’

(3)" Immediate memory '
(4) Sensory memory '

The' triarchic theory of successful
intelligence was given by :

(1) Spearman

(2) Binet

{3) Thorndike~
(4) Sternberg

The law which is mor a part of Gestalt

views of learning is :
(1) Law of similarity
(2) Law of proximity
(3) Law of closure

(4) Law of use



alt

24. UF e TR & Iwh, EE amd
ey’ FEd ¢ | fme § wEm

(1) i Eas &
(2) fadias grede @

(3) TR G H
(4) IT0 § | @ @

25. uifefs & frela & ogem 5=
e = & wma ¥ 7

(1) g o
(2) g&g o
(3) #HE (Meso) @
(4) Tl (Exo) T3

26. M ‘T F TW TEY g A
FqHEH @ R FEa @

(1) TEmEET
(2) TR
(3) 9=F

(4) EH & FE FE

27. F=ilEa § § SF-91 0% AT A

CORCALEL NG A
(1) @fwgfr

2) 3%

(3) Fsmar

4 =@

Level-2/1210

[9]

24,

25.

26.

27.

[B]

After
behaviour, the teacher says 'very good'
to the child. She has used :

occurrence of a desirable

(1) Primary reinforcer ,
(2) Secondary reinforcer
(3) Negative reinforcement

(4) None of the above

According to Ecological system theory,
which system includes 'values' ?

(1) Miero system ¢
(2) Macro system
(3) Meso system

(4) Exo system

Using our current 'schemes' to interpret

the external world is known as :
(1) Assimilation

(2) Accommodation

(3) Organization _

(4) None of these

Which of the following is mef an

example of acquired motive 7
(1) Attitude
(2) Interest

(3) Curiosity

- (4) Hunger

P.T.O.
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[B]

08, FyiEd ¥ @ Fe-m fwwnEs GE
& I 8 7

(1) g
(2) HEvTETEA
(3) Az A
(4) F= A
09, Br=ifa § A F-m ARa=E EF,

FFETOT U4 WM SAET H FE H
g7

(1) s &

(2) FIEW WS

(3) Teg ARG U8
(4) oAffHfyes g7

a0, thme @t R § @ BFES FE W

[10]

28. Which of the following is an example of

Developmental Disorder ?
(1) Blindness |
(2) Hearing impairment
(3) Intellectual disability
(4) , Leprosy

29, Which pért of the brain supports

grammatical processing and language
production ?

(1) Broca's area
(2) Frontal lobe
(3) Perietal lobe

(4) Occipital lobe

30. Programmed learning is based on the

ST & ? work of :

() X (1) Skinner

(2) framt (2) Piaget »

(3) e (3) Pavlov

(4) FZ0 (4) Bandura
Level-2/1210
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9T - 11 / PART — i
oy (= ud ofiish) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
R : Rt ged @ aav 37 3 e gee o Ree g

[B]

31. A-a 9= 3§ et § fAfa ® 7 34, Pm Peg § Oy Fram & Swlw EW

P HT Y 9= FMeE 7

(1) g9
(1) Ifims
(2) s
(2) Ry
| (3) FgE= 5 )
r' (4) FEem @)
2 syw B TR i aﬁ.ﬁﬂﬁﬁmﬁﬁmmm%?
'l
(1) SreaTeE-anfaeiEs (1) =g
(2), wT-faere (2) e
3
() Vi (3) gha
(4) gEer
(4) gha-ta
36. “FHW T, 939 9, B8 § 9 -
33. For.degeT # A At ot § orgw 9= g i & wg v F @ AE-w W
L fadreor 7@ % 7
(1) zand (1) g5
(2) ilil{{ﬂ {z)fl'nf[
(4), AR (4) FrHw
Level-2/1210 P.T.O.

ot




[B]

37.

38.

39.

40.

=1 4 & frm Feew ® wdumg &
IS & 7

(1) T

(2) e
(3) aritad
(4) IATES

F-a fome R wafed oy A
gF & 7

(1) g it

(2) gt

(3) TEr Fet

(4)\mwmEsnie A

Fr=t & & S-a1 o= ‘Geg’ ® 7
(1) &fear
(2) grerieR
(3) HErHl
(4) g

Proa o= & et dfft & w7 gan

g ?
(1) “asiar
(2) e

(3) AT
(4) wErE

[12]

41.

42.

45.

9 faey ey fer € 7
(1) vgusree

(2) Fasar

(3) &

(4) AT

‘T S (vaE) 9 #

(1) %R @ T

(3) ™=@ (4) Someit

T R A R
1 T=ETT FA 7

(1) FegaEs &

2) T =

(3) FMygmEs gdam

(4) UEYAREH FERE

FA-T 91 ST o T8 2 7
(1) 39 (2) g
(3) (4), T

et et # &/ BF-ar F99 o B 7
(1) ‘g’ Sfters oot B |

) ‘g @il o B

3) ‘g wsft aiwm &

(4) ‘T uffas avf |

Level-2/1210
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[B]

[ 3f35ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

'Dancing is her hobby.'

The underlined word is used as a :
(1) verb

(3), participle

(2) gerund
(4) adjective
Choose the most appropriate modal for

the blank -

She .......... swim for hours at the age of

(2) may

(3) ~might (4) could

"The girl who'is wearing a red ribbon is
my sister.”

The underlined words are a :
(1) Noun Clause

(2).. Adjective Clause

(3) Adverb Clause

(4) None of the above

Choose the most appropriate form of
indirect speech for the given sentence :

He «said to her, "you are a very
reasonable person.”

(1) He said to her she is a very
reasonable person.

(2) He told her that she was a very
< reasonable person.

(3) He told to her that he is a very
reasonable person.

(4) He said to her that she is a very
reasonable person.

Level-2/1210

50. Fill in the blank with the appropriate

51.

preposition.

He lost all his property because of his
addiction ......... drinking and gambling.

(1) with
(2) in
(3) to
(4),of

"Business falls off during summer
months."

The underlined phrasal verb means :
(1) to decline

(2) to grow

(3) toincrease

(4) to disappear

Fill in the blank with the appropriate
option :

"] paid the bill but the cashier did not
givethe ... 2

(1), receipt
(2) receive
(3) receiving

(4) received

P.T.O.
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54.

55.

56.

'She could not figure out the theme of
the play clearly.'

The underlined phrasal verb means :

(1) comprehend

(2),~examine

(3) enjoy

(4) draw

Fill in the blank by choosing the correct
option.

"Asha and I .......... on M. G. Road
when we saw an old man walking
slowly."

(1).-were shopping

(2) have been shopping

(3) had been shopping

(4) shopping

Choose the correct Passive Construction
for the sentence given :

"Mrs. Sharma knows me."

(1) Tam known by Mrs. Sharma.

(2),1 was known by Mrs. Sharma.

(3). I am known to Mrs. Sharma.

{4) I have known to Mﬁ. Sharma.

Choose the correct word for the

following expression :
One who is present everywhere
(2) Omniscient

(3), Omnipresent (4) Omnission

(1) Ommnipotent

[14]

57.

59.

60.

Choose a suitable connector for the
blank from the options given :

"My father burnt his hand ......... he was
lighting a candle."
(1) but (2)7 while

(3) because (4) since

"Maharana Pratap fought bravely and
won the war."

The underlined word in the sentence has
been used as a:

(1)~-Noun

(2) Verb

(3) “Adverb

(4) Adjective

‘Agreement’ is 2 noun with 'ment’ as a
suffix. Which of the following options

will become a noun if we add the suffix
‘ment' to it 7

(1)-amuse
(2) extort
{3) correct

(4) colour

Choose the word which is spelt

correctly :

(1) comittee

(2) committe
(3) committee

(4) commitee

Level-2/1210
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AT =/ PART =l
A JETT / GENERAL STUDIES

[ AETHS 3rgar, aifhe SRR a9r 9T 59 U9 SiRETH / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

Pl : P g @ aur 39 3 e g ot Ree gie )

Direction : Answer the following questions by selecting the most appropriate option.

61. A FI T B F1 379 | 20% T &1 B
T A A H AT T e gfaew ofaE
g7
(1) 20% (2) 25%

2o ' 1,
(3) 153f 4) 3334

62 A ymm AR oW E RN 9 F
qE o g 7
987990299903 1992796569781967899290
(1) 2 (2) 4
(3) 5 (4) 6

63. w e § E’.?h i % AT HT
AT & | Sel H 99 9F WY A1 g
.7
(1) E e #

(2) 21 e ®
(3) % fre §
4
4) — fiFe §
3 e
(o
Level-2/1210

61.

62.

63.

If income of A is 20% less than income
of B. How much percentage is B's
income more than income of As?

(1) 20% (2) 25%
2 ® 1
() 165% (4) 3%

How many 9's are there which are
followed by 9 in given series ?

9879902999031992796569781967899290

(1) 2 (2) 4
(3)+5 4) 6

f-

%th part of a bucket can be filled in one

minute. Rest part of the bucket can be
filled in :

(1) 5 minutes
3
(2) 21 minutes

(3) % minute

(4) % minuies Sk

%
T e

v

|

D ———
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65.

us deq B 8, 12 R 15 4 W 3
T EHYT 99 5 ST 8| 98 6 © o

(1) 9505
(2) 9605
(3) 9705

(4) 9805

WY B g 5 Fivd e o 5
9 AT 10 & gt & g/ # wrer W9, A
7o} & ot g B

(1) 0

(2) 3

(3) 8

(4) 15

Eakr ) oo/ hald

1
(1) 95

1
(2) m—i

3
@) 105

1
(4) 135

Level-2/1210

[116]

64.

A number, when divided by 8, 12 and
15, gives always remainder 5. Then
number is :

(1) 9505
(2)* 9605
(3) 9705

(4) 9805

W
Find the smallest number such that if it is
added to sum of squares of 9 and 10,
then complete Square is obtained :

(1).0
(2) 3
3) 8

(4) 15

o[l e

1
(1) 9-5

1
(2}{ 11]—2—

3
(3) ID:‘-

1
(4) 13—2-




67. AP HEEH!

68.

69. M AR -G 13 A g & ?

20
(2) P
16
(3) s

51

g

® 154

Level-2/1210

o J

69.

[B]

Average of eight numbers is 12. If each
number is increased by 2, then average
of new numbers is ;

(1) 13
@) 12
3) 15
(4), 14

How many numbers are there from 1 to
100 which are completely divisible by 7 ?

(1) 9
(2) 11
(3) 17

) 14

Which of the following fraction is
greater than 1/3 7

27
D

20
A2 =

16
G =
51

@ Tsa

P.T.0.
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70. 38 9 A O dew s Hia @ 24
d pPr o W P o dEn o
gt # ¢

(1) 2
(2) 3
(3) 4
(4) 6

71. fdm & g
(1) =
(2) %
(3) =
(4) 9

72. Fomr & @ 1 Pl &1 dew B

(1) 6
(2) 8
(3) 10
(4) 12
73. 7% GRASP @ INOPQ FE a1 s

%| BROWN % RNSTU %2 Fan s
¥ @ SPARROW @I &£ & i@ :

(1) PQONNST
(2) PQONNOT
(3) POQNNSU
(4) PQONNSU

Level-2/1210

[18]

70. Find the smallest number such that by
multiplying it with 24, a complete
square number is obtained :

1) 2
@) 3
(3) 4
(4) 96

71. Find the odd-one : -
(1) Oxygen '
(2) Ice
(3) Water

(4) Steam

72. The number of triangles shown in the

(1) 6
(2) 8
(3 10
4 12
73. If GRASP is coded as INOPQ,

BROWN is coded as RNSTU, then
SPARROW will be coded as :

(1) PQONNST
(2) PQONNOT
(3) POQNNSU
(4) PQONNSU




[(19] [B]

74. FY9: 1 % Byw & 3 @ a9 ¥ 74. Statements : I. A triangle has 3 angles.
1. OF & & 4 &7 810 &1 II. A square has 4 angles.
. Fepe : OF @EY9 % 987 § HT B Conclusion : A polygon has many
i g angles.
a = & |8 9T ge e 7 Then which of the following is correct ?
| (1) F=pe w& A (1) Lonclusion is correct,
(2) = T 21 (2) Conclusion is wrong.
(3) foepd aedma w8 21 (3) Conclusion is not logical:
4) T & a1 =@ (4) None of these =
| 75. B3 ™ = # g9 g9Em SETE @ 75. In given figure, circle represents rich
' meldfd T B, omaw A @ wERE people, réetangle represents
Fa ¢ R Byw ol afeEt & hardworking and triangle represents
qafsia HLar & | o FHET Alea S Heedl rural people. Then rural people who are
ar & 9 Fds &, % e mr g hardworking but poor, are indicated by :

1 514 5) 4/
i jﬁ 3
| (1) 5 2 7 (1) 5 (2) 7
(3) 4 (4) 6 (3)-4 (4) 6
76. 3 WG FAvsT & wWEMr F affumew 76. The maximum possible number of
g Taar & 68 B Sundays in 3 consecutive calendar
months is :
(1Y 14 (1) 14
(2) 15 : (2) 15
(3) 13 (3),13
(4) 12 (4) 12
Level-2/1210 P.T.O.
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ABF WER B,CHTHECDH
99 8 @i D, E 91 ot B E, B & #4
g7

(1) far
(2) a4t
(3)
(4) @
T gEn & ¥ ¥ qee 9w e
T o 4 B offm AR demelt @

g & 4 B ol 9 dEmei @
a3 B 1 9 e s Fif

78.

(1) 4 @ 3
(3) 11 4) 7
79. R 7 o1 § g dEwn T A
5. 125 18
15 | 10 |12
20 455 Tt
(1) 15 @) 10
(3) 20 () 25
80. Bvil F Td T& Fa Do
2% Vs LR
) 47
(2) 52
3) 57
4 62

Level-2/1210
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78.

79.

A is brother of B, B is wife of C, C is
son of D and D is wife of E. What is E
tocB?

(1) Son-in-law

(2) . Father-in-law

(3) Brother-in-law

(4) Mother-in-law

There are seven numbers. Average of
first four numbers is 4. Average of last
four numbers is also 4. Average of all

seven numbers is 3. Find the fourth
number " L4

(n 4 (2) 3

(3)-11 4) 7

Find the missing number in given square :
| 5125 |18
| 15 | 10 | 12

1% 1 7

(1) 15 (2) 10

(3) 20 4) 25

Find the missing term of the series :

20 ALt T

(1) 47

(2), 52

(3) 57

(4) 62




81

83.

84.

85.

g it awdl fum ww & guee
(=t wii=) € :

(1) FET o
(2) Fa% 9

(3) T, &. AEw
(4) ddw =g

gRaen & A S e ¥ Sg
I A A

(1) mmEoer (2) aifed

(3) (4) wTE

T TR seage ot ddeRd
Ug 9E’ HafiEd 8

(1) TEu™ F

(2) EF

(3) Eas A

(4) deegEn &

2011 # SO % SFGER BETT
e 9 ¢ (o @t e )

(1) 478 (2) 573

(3) 385 4) 325

efamn % gem e S g
wia f o '

(1) MTEge 3

(2) @ |

(3) gier &
(4) TR H

Level-2/1210
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81.

85.

[B]
The Deputy Speaker of 13th Legislative
Assembly of Haryana is :
(1) Kuldeep Sharma
(2) Kanwar Pal

(3) R. K. Nandal
(4) Santosh Yadav
The river of Haryana, which originates
from Rajasthan, is :
(1) ,Markanda

(3) Ghaggar

(2) Sahibi

(4) Saraswati

'The Technological Institute of Textile
and Science' is situated at :

(1) Gurugram

(2) Bhiwani

(3) Rohtak

(4) Panchkula

As per the Census-2011, the population
density of Haryana is (in per square k.m.) :
(1) 478 (2) 573
(3), 385 (4) 325

The first Nuclear Power Project of
Haryana is being set-up at :

(1) Gorakhpur
(2). Kakroi
(3) Sampla

(4) Yamunanagar

P.T. 0.
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86. §1 2017 # Ef@PM HEX A 86. Where has the Haryana government
gfamn Raw #1 erde Fer G 7 organised Pravasi Haryana Divas in
20172
(1) Fsi Rgafaewd, aFH (1) Ashoka University, Sonipat
(2) Freq offs M, T6UM (2) Kingdom of Dream, Gurugram
(3) FFiT mE=, deEegEn (3)* Pinjore Garden, Panchkula
(4) Fsme wEE, 78 Rl (4) Vigyan Bhawan, New Delhi
g87. Ho fores &1 wEd A s G 87. The Math (Monastery), which was
&t = 3% & w9 H oI, 98 @ ¢ rejuvenated and chosen as main center
by Baba Mastnath, was :
(1) HHEw (1) Kansrati
(2) Ter At (2) _Asthal Bohar
(3) e (3) Pehwa
(4) wrET (4) Jalandhar
88. 9 I G1E H FHIU AR T : 88. The tomb of Bu Ali Shah is situated at :
(1) fEmr d (1), Hissar
(2) TFAAR (2) Yamunanagar
(3) origE § (3) Panipat
(4) e ¥ (4) Jind
89. Fy=ifea el & & @l 0% Usg SN 89. In which of the following locations, a
St & 7 National Park is situated ?
(1) gyt (1), Sultanpur
(2) femErE (2) Bhindawas
(3) -rEA (3) Nahan
(4) FEEIER (4) Abubshahar
90. 313 WEgTE AmUSE FWN W A 90. The partner Nation in 31st Surajkund
TRl U o International Crafts Mela was :
(1) = (2) 9 (1) Egypt (2) China
(3) #@rave (4) ST (3) ,Thailand (4) Japan

Level-2/1210
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A -1V / PART - IV
| / MATHEMATICS

[ARST : [Pt g9 & GRT @7 % [ wae ot REeT gl

Direction : Answer the following questions by selecting the most appropriate option.

91. 33 Hiet FUE 999 W A & 11 HeX & 91. By selling 33 meters of cloth, A gets
CER R % FUIT &N e 2 @ gain equal to selling price of 11 meters.
SfeTeT FUET § Gain in percentage is equal to :

1) 25% 1) 25%
@) 331% . @) 331%
() 50% (3) 50%
(4) 75% 4) 75%
g2. (T—-‘-’&ﬁ] & T ST # 92.  Square root of (’?—4@@) is equal to :
1) £2+43) (1) £(2++3) '
@) +2-3) 2) +(2-3)
(3) £(+2-3) () £(2-9)
T @ +(2+3)
% F % Y FE/SPACE FOR ROUGH WORK
Level-2/1210 P.T.0.
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93. Fr=fafag # & @#m-d 1 998 8id 93. Which of the following fraction is the
g7 least ?
12 12
(1) e (1) 5
14 14
gy dbud =
T @) 1o
17 17
(3) 51 (3) Tl
25 25
4) — 4) — g
(4) % (4) 26
.94, T dHERT & TR 48 T TR 94. The product of two numbers is 48. The
H GFTEE 100 B & G weel @ sum of their squares is 100. Sum of
AT FET B these two numbers is equal to :
(1) 14 (1) 14
(2) 16 (2) 16
(3) 19 (3) 19
(4) 24 (4) 24

% Fd 3 U FE/SPACE FOR ROUGH WORK

0

Level-2/1210
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95, & T : (20 = 5) + 2+ (16 + 8) x 95, Solve:(20+5)+2+(16+8) x2+
2+(10+5)x(3+2)= (10+5)x(3+2)=
(1) '9 (2) 12 (1) 9 (2) 12
(3) 15 (4) 18 (3) 15 (4) 18
96. U aam & 20 FEY 60 v F F=R 96. A person got 20% profit by selling 20
9T IH 20% H @9 | 60 T3 & items in 60 rupees. How much items did
T fepertt aeq @l ? he buy in 60 rupees ?
(1) 22 (2) 24 (1) 22 (2) 24
(3) 25 (4) 26 (3) 25 (4) 26
97. ™ -1 ¥ 2 T xZ+bx+e=0 97. If -1 and 2 are roots of the equation
%‘ﬁ%,ﬁfcﬂ?lﬁ?%: x2+bx+c={},then ¢ s equal to :
(1) 1 (2) 2 (1 1 (2) 2
20 =i (4) -2 (3) =X (4) 2
-
98. ‘g = & o4 B : 98. Meaning of the word 'Heurisco' is :
(1) 9ar & (2) HraA (1) To know (2) To think
(3) g (4) @ HET (3) To learn (4) “To discover
99. =g 17°" & 18 & fawm Fean @ 99. The remainder obtained when 172% is
&, o 9w o Erm divided by 18, is :
(1) 1 () 2 Ey, 1 (2) 2
(3) 16 (4) 17 (3) 16 @) 17
% &4 # [T FESPACE FOR ROUGH WORK
/2 '\A v
B | gl
iyt A
g
én‘u
NV
S

Level-2/1210
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100. &S xz+2x_],"+_],—'2—ﬂ:""+2.ri.:‘.r—~.!:~2 F 100. The expression x2+2xy+y’ —a’
UF PHEE +2ab—b* has one factor as :
(1) x—y—a-b (1) x—y—-a-b
2 x+y—-a+b {2Lx+-y—a+b
(3) x-y—a+b (3) x-y—-a+b
(4) x+y+a+h (4) x+y+a+h

101. TF 4 ¥ o0 G 59 H 1 G 9w 101. A 4 cm sided cube is ‘eut into 1 cm
amt Tt 7 e R o g UE Fen # sided cubes.  What is the percentage
yyarg, A dEkd H uvd gfe increase in the surface area after such
27 cutting?
(1) 4% ) (1) 4%
(2) 300% (2) 300%
(3) 75% | (3) 75%

| (4) 400% . (4) 400%

% 4 % U SE/SPACE FOR ROUGH WORK

9 fﬂﬁ‘h)
+ xb

L @
o A :

W

Level-2/1210




102. % F&1 § 60 famnifEt @ ofmw oW
40 fEm B @ #= oW F 50
Frr ® ol @efRt &1 ol @99 30
frm %) w=w oI wsfEar @ den
FHT: T B

(1) 25,35
(2) 35;25
(3) .20, 40

(4) 30,30

103. I 71%=44[:-. i x WET R

1271 [B]

102. The average weight of 60 students in a
class is 40 kg. The average weight of
boys is 50 kg and average weight of
girls is 30 kg. The number of boys and
girls respectively are equal to :

(1) 25,35
(2) 35,25
(3) 20,40

(4) 30,30

103. If ﬁﬂﬂﬂ, then x is equal to :

(1) 484 (1}{434
(2) 400 (2) 400
(3) 5324 (3) 5324
(4) 444 (4) 444
1% F4 % [T STE/SPACE FOR ROUGH WORK
[ LAl
‘, =
./\3? ~ 15‘ J-—-—-‘
< S
- ()g’ — yyo
A
i
Jeo
. 40yt
Level-2/1210 ,.--F"r'_" fp P.T.O
W
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1u4.uﬁ;3x+2y=14a:?1?xy¢8,ﬁr 104. If 3x + 2y = 14 and xy = 8, then
[2?:3 +Ey3] T B (2'?::3 +Ey3) isequal to :
(1) 816 (1) 816
" (2) 728 2) 728
r
(3) 832 (3) 832
i
(4) 1228 (4) 1228
105. o EEEYS & SFADON B ar, A 105. The sum of the inferior angles of a
it & A % ReF B 9 # syl regular polygon is three times the sum
& HeE TOE § of its exteriof angles. Number of sides
of the polygon is equal to :
(1) 5 (1) 5
) 6 (2) 6 .
(3) 7 37
(4) 8 (4) 8

TG P 3 [T SFE/SPACE FOR ROUGH WORK

Y |

W ARl l
S e
ka‘hﬂ % ﬂ‘f!“ﬂ L 1: L&
ARy
\-h- % ‘lﬂfﬁﬂ L'Hf"}; Y
- 2| 12

%
| A ) ¢
wd Y

Level-2/1210
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106. TF g0 % AD UF &H 797 AB U5 106. AD is a diameter of a circle and AB is a
WEr ®1 3% AD = 34 &, AB = 30 chord. If AD = 34 cm, AB = 30 cm.
ﬁ,ﬁfﬂﬁ%@ﬁiﬁﬁsﬂﬂﬁgﬁw then the distance of AB from the centre
3 of the circle is equal to :
}' : (1) 1599t (1) 15¢cm
(2) 17 8d (2) 17 em
(3) 48 ; ' (3) 4cm
(4) 8 FT (4) 8cm
73 _gl 73 -6l !
107. 42594 & E+—%—1 AT B 107. E+—4?—61 of Rs. 42 is equal to -
AL e v
3 - 3
(1) 77 593 (1) Rs. 77
§ (2) 38509 (2) Rs. 38
(3) 38.50 59 (3), Rs.38.50
(4) 39.50 593 " (4) Rs.39.50

% ¥ % [T F8/SPACE FOR ROUGH WORK

Q). 12 | &
4 L s T
> *’-?""'/A—:Ei‘/*f,;%;if &

Level-2/1210 Pt T2 P.T.O.
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108.

109.

110.

w gEEer 3 12 Rt A o504 vw
w97 | yan 4 Bt # ged ofwa o
40 5 | SEd 99 BA # e o
T E

(1) 40%73 (2) 4159

(3) 2598 (4) 4351

afer =1 Faife ofre Ty R 7

(1) e e

(2) &=t |

(3) Rt &

(4) e ¥

wF 47 AT F A 9 AeT FA ¥ AN
T R # B 12 AR ¥ g o
F fu oTava® ST @ AEE F e 7

(1) 180n & #eX
(2) 80m 3T H
(3) 120mad HeX
(4) 100 @ HieT

[30]

108.

109.

110.

A shopkeeper earned Rs. 504 in 12
days. His average income for the first 4
days is Rs. 40. His average income for

the remaining days is equal to :
(1) Rs. 40 (2) Rs. 41
(3), Rs. 42 (4) Rs. 43

Which of the following subjects, is
highly correlated with Mathematies ?
(1) Chemistry

(2) Hindi

(3).Physics

(4) Civics

A conical tent is 9 m high and the radius

of its base is 12 m. What is the area of
canvas required to cover it ?

(1) 180=m square meters
(2) 80m square meters
(3) 120m square meters

(4) 100w square meters

Level-2/1210
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111. 1.21x0.9 TS 111. ’1.2]:([!.9 e eanal
L1x0.11 1.1x0.11

(1) 2 @) 3 (1) 2 @2y 3
(3) 9 (4) 11 {3) 9 (4; 11
112, @ wE Brir it dF gomd 7:24: 25 112, Three sides of a right-angled triangle
%Wﬁ%tﬂﬁﬁgﬂﬁw are in the ratio of 7 : 24 : 25, If the
11289 B, & %97 % o= 90T & ¢ perimeter of the triangle is 112 ¢m, then
length of the hypotenuse is equal to
(1) 367+t (2) 48 &4 (1) 56 cm (2) 48 cm 3
(3) 50 4) 14 T (3) 50 em (4)* 14 cm
113. FE FAF (1964-66) F @ 3 113. Which defects among the following
e TRwER H R @& 3§ defects are pointed out in curriculum of
HEE! &Y FamEr & 7 Mathematics by Kothari Commission
(1964-66) 7
(i) 099 9EEET AT F (i) Present curriculum is inadequate. |
(il) 7% TFaTEE g9 EEEE S & (i) It has lack of creative and
A9 & constructive activities.
(iii) T2 S SifEE 21 (iii) Curriculum is over packed,
| (1) ()l (i) () @)@ Gi) (1) (i)and (iii) (2) (i)and (ii)
q (3) (i) & (i) (4) (i) Gi) I (i) (3)e (i) and (i)  (4) (i), (ii) and (i)

T% H¥ % [0 STE/SPACE FOR ROUGH WORK

_f_lw"_,;c,i_.

~ [fee (o
i

oAy T 2utor
X ,
/ J\\-\ A

Level-2/1210
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114. 233 %233 +0.33 x 033 - 0.66 x 2.33 114. 233 x233+033 x0.33 -0.66x2.33
TET B is equal to :
(1) 2.66 (1) 2.66
2) 0.4 @) 0.4
(3) 4 [3; 4
(4) 2 4) 2
115, % BE & 3% Tl € 63 F T4 83 115. A student's marks was wongly entered
T o | 39 el # goig |, e as 83 instead of 63. Due to this
& dfrem o & 12 1 gfe & ) mistake, the average marks for the class 3
¥ gt ) gE U © got ‘increased by 1/2. Number of
students in the class is equal to :
(1) 45 (2) 40 (1) 45 (2) 40
3) 35 (4) 30 (3) 35 @) 30
116. % A S o BF T & 25% e ¥ 116. If A's income is 25% more than B's
a B & @ A # a9 & e sfasa income then by how much percent is B's
w87 income less than that of A's income ?
(1) 33% @) 75% 1) 33% 2) 75%
(3) 20% 4) 15% (3)420% @) 15%
6 T4 & fiT SFE/SPACE FOR ROUGH WORK
X i 227
Gfs'}) + (%) ; @€
L
_33) A W
233 '
& ¥e L PR
2 @'ﬁ (< e
-~ . - r— J o ltr
£ € we
| f___..__f“"’ > xfe ga
f % 3 —
Level-2/1210 5 Y/_ l
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117. 65° e H =@ #fo ¢ 117. Express 65° in radian :
i 137 s 13n
i . - i
(1) 3 (2) % (1) 3 (2) T
13xn 36m 13= 36m
i) [ ) S N ) P
(]3& (}” (}3ﬁ (}13
118. JT2+J?2+J?2+ ..... w H AF S : 118. The value of J?2+J72+J?i+.....m
i85
(1) 6 (1 6
(2) 8 (2) 8 &
39 (3).9
4) 12 (4) 12
19. I + & a4 x, + = af +, x &7 g 119. If + means x, + means +, x means —
— R —Fad -, A 124 +32-8 and — means +, then 124 + 32 -8 + 2 x
+2x 11 90T & ¢ 11 is equal to :
(1) 120 (1) 120
(2) 121 (2)..121
(3) 132 (3) 132
(4) 9 & # T (4) None of these

% #d § [T F8/SPACE FOR ROUGH WORK

P O ot & "
A A8 182
e 0y - 1
el ARl Z5h
) [ e \#
2 " s 70 5
)% i v
§ o9
g § o8

Level- 3/ P.T.O.
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120. @ o H 9 oF gu # Ry 3
UL &1 AR ot @ d=ea 12100 @
"t &, a g9 # 9% SUE €

(1) 4407 Hrex

(2) 14000 &t Arex
(3) 15200 7 Hrex
(4) 15400 7 ey

121. A % &8 & 5 oA § & 97 &, B
4 At & @ar A, B ofit € | § 2 R
d F HEd £, O C IS 50 feow
g § T g & 7

(1) lsﬁf—r
(3) 26 &

(2) 20 R
4) 25

122. "9 ¥ 50 F IR g R R

# agaT w E 7
(1) Hsermo (2) fasersor
(3) ST 4) Fms

[34]

120. Perimeter of a square is equal to
circumference of a circle. If area of
square is 12100 square meters, then area
of circle is equal to :

(1) 440 square meters

(2) 14000 square meters
(3) 15200 square meters
(4) 15400 square meters

121. A can do a work in'5 days,‘B in 4 days
and A, B and C together in 2 days. In
what time r;m@ C do it alone ?

(1) 45 days {2) 20 days

(3) 26 days (4) 25 days

122, "Unknown to known" is advanced in

which teaching method ?

(1) Synthesis (2) Analysis

(3) Deduction (4) Induction
L

% F4 % [T TB/SPACE FOR ROUGH WORK

Level-2/1210 9@
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123. 77 I+l=p, ar I2+i2-= 123. If x+l=p, then IE+L2:
X x X x
(1) p? ) p*+2 (1) p? () p*+2
@) p* -2 4) p*-4 3) p* -2 4 p* -4
- -
124, E'ﬁ?r'ﬂﬁlt[:id- 2 —2+ 2 = 124. Snlve:£+ 2 ~—2+ Z =
1 1000 100 10000 10 1000 100 10000
(1) 0.1088 (2) 0.1288 (1) 0.1088 (2) 012880
(3) 1.0822 (4) 0.1822 (3) 1.0822 (4)0.1822
d -
125. M EFE FA A @ yMa e, @ 125. If oneside of a square be g, then area of
ﬁq;%iﬁ%ﬁﬂmm the largest circle in it, will be :
1o L7
(1 zm (1) 57
1 (2) ¥
- 2
(3) —ma (3) B
@) dna’ 4) 4na’
1% F4 3 57 FTESPACE FOR ROUGH WORK
2 LT *0062
g z " =
%+ !
= b= . 02
& i . 3 'fj‘ ﬂ-—é . B Gtz_
- N 2
- Rl e 2N v R 2 02
G, it . b ' 0602
g'*:;l =
e N
o
1209 & i
S ‘OL f g
Level-2/1210 R .| 8 P.T.0.
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126. TF YT F TH A 140° & oA f9 126. One angle of a pentagon is 140° and
FOT1:2:3:4% g0 § ¥ dEge the remaining angles are in the ratio
| F qIE TS HIY & 8 1:2:3:4 The largest angle of the
pentagon is equal to :
(1) 168° ; (2) 160° (1) 168° (2) 160°
(3) 150° (4) 140° (3) 150° 4)_140°
127. 70 &fX 100 # 7eg #eft sy HEma 127. Sum of all the prime numbers between
& AT § 70 and 100 is :
(1) 492 (2) 385 (1) 492 (2) 385°
| (3) 421 (4) 419 (3) 421 4 419
128. 3f b W OTF A g & T ¢ W T 128. If g is simple interest on b and b is
& b ¥ = aY ST gHg aF gameit simple interest on ¢. Rate of interest and
Soae B ar o A S gl 7 7 time is the same in both the cases, then
which of the following is correct ?
(1) a* =be (1) a’ =be
2) b*=ca @) b*=ca
(3) ¢?=ab (3). ¢*=ab
(4) abc=1 (4) abc=1
% % 3 T SE/SPACE FOR ROUGH WORK
\» -
s 2 D ‘
0‘; /1 0 ¢ S%
weat\e |
/ \& 11"%“- a'g[/@l
\j ,{qu /’Lrﬂ
/ P 2
C/I__t&-._ ] [‘:‘mwﬂ*’
S
ot AN 25
& 7
\% d" 2
Level-2/1210 G A 30
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s L) ol
129. R x1+[ ] =3a%x#-a T x 129. If xz-r{—) =3a’;x#-a then
a+x a+x
& FIE UFH A GO & one of the value of x is equal to :
A @ ara¥s ) 125 @) areds
2 2 2 2
@ 128 @ otaf3 @ ¥ @ S0
2 2 2 2
130. AR x+y+z=0,a ¥+ +2° : 130. Ifx+y+z=0,then x*+)° +2° :
(1) xyz (2) 2z (1) xyz (2) 2xyz
(3) 3nz @ x*y2 (3)+3xyz @ 7
131. A1 A @0 B 219 e 39 YHN & % B 131. Let A and B be two solid spheres such
F OIS BG4 3 USE &eE & that the surface area of B is 300% more
300% IF Bl A & MGGd B @ than the surface area of 4. The volume
AT W % FH X H I GOET & of 4 is r% lower than the volume of B.
Then value of r is equal to :
(1) 85.5 (1) 85.5
(2) 87.5 ) 87.5
(3) 90.5 (3) 90.5
(4) 925 (4) 925
% &8 3 [T FIE/SPACE FOR ROUGH WORK
e f
'.‘ -
Level-2/1210 P.T.O.
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132, 91 % o9 o @ Roemr o m & R

133.

T F: 3, 4, 5 W ¥ R TR 0w
o a R WET R W oW @ g
TET R
(1) 63
(2) 484
(3) 5a9

(4) 78d

BYs ABC @ a1 AC W D #¥ 0%
g B oA AB = AC, @ e 7 &
- T R 7

132.

133.

Three cubes of metal, whose edges are
3, 4, 5 cm respectively, are melted and
formed into a single cube. The edge of
the new cube is equal to :

(1) 6cm
(2) 4cm

(3) Sem ®

(4) 7cm
w

D is any point on side AC of a triangle
ABC with AB = AC, then which of the
following is true ?

(1) CD<BD (1) CD <BD
(2) CD>BD (2) CD>BD
(3) CD=BD (3) CD=BD
(4) TH | Fg T (4) None of these
% &4 % [T TE/ISPACE FOR ROUGH WORK
a
L6
?.'1_
Level-2/1210
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134. RCEM WUIIeit & @R @2 &+ 2 134. According to RCEM approach, the
correct order is :
(1) 7T, ey, wiEear (1) Input, Output, Process
(2) s, S, &1 (2) Output, Process, Input
(3) wifsrar, ST, SeT (3), Process, Input, Output
4) 78 9 = = : (4) None of these
135. 60 wiet o g9 AR 9 3 famo & 135. A mixture of milk and water weighs
10% 91 21 389 A a1 e o 60 litres which contains 10% water.
% 9l 25% & g 7 How much water should be added to it
so that water may be 25% ?
(1) 10 (2) 9 & (1) 10 litres (2) %9 litres
(3) 127X (4) 15 wET (3) .12 litres (4) 15 litres
X 7 X . 5 X i
136. 4T (—] —5[—-J+ﬁ=ﬂ, ar 136. df |—— | -5 ——]+6=D, then the
x+1 x+1 x+1 x+1
[]+l] = D A 9T B G positive value of (1+ l) is equal to :
X X
(5 (2) 6 ~ (1) 5 (2) 6
1 1 1 1 1 b 1 1
3) 1— 344l 1— (4) — T — 3) 1I=orl= ) =.of =
| SN - s W3 3 Qg eaes

TF F8 & [0 S8/SPACE FOR ROUGH WORK

X |
'—6; 60— 6o
. g
L/Jaj"efl L -IL ’

E 5"-:4’1“5 /é'é‘}‘-»‘ﬁ:f‘ !
N "’_’W S

'?tr’lf"’;‘ =Z =&

gy R 7

nt |
Level-2/1210 . o SV P.T.O. b
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137. 17 #FEf W1 & 17 75 & = o 137. 17 cards numbered 1, 2, 3, ...., 17 are
23 = oo # TEEt o= TN | put in a box and mix thoroughly. A
e o B ww @ e 4 4 @ person draws a card from the box. Find
e Famar 81 39 FE W UF J9 the probability that the number on the
e e & gt S Fifg card is a prime number :

9 17 9 17
1) - 2) — D — 2) —
(1) e (2) 5 (D 7 (2) 3
i 17 7 17
— 7y s LS 1)
(3) 7 (4) - (3) 1 (4) -

138. g% ‘daEdr o & BRa g @ 138. The book 'Leelavati’ belongs to the field

o T & 7 of Mathematics is ;

(1) e (1) Algebrag

(2) HFOTE (2) Arithmetic

(3) e (3) Chapter on spheres
(4) el H FAH (4).- Mathematics of planets

139, - ‘R g W & Fred oehsEr F gege 139. "Mathematics is the language in which
e W wEE S o R R Rew God has written the Universe." Who
Far ¢ said this ?

(1) =g+ (2) FT (1) Newton (2) Kepler
(3) TreifeEr (4) @F (3), Galileo (4) Locke
% F14 3 fU FE/SPACE FOR ROUGH WORK
o, 57,811
1, %8520 5
)
Bl
_.,--""""-F-
A
{' f

Level-2/1210
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140, FHIHT A 20 + y = S x — 3y = -1

A 3x + 4y = k gETT & @ k TR
g

[41]

[B]

140. The system of equations 2x + y = 5;

x =3y =-1and 3x + 4y = k is
consistent, then k is equal to :

(1) 1 1y 1

(2) 2 (@) 2

(3) 5 (3) 3

4) 10 @), 10

141. o= F41 8 % 7O 1 AT B 141. Siddhant is a gifted student of 8th glass
® | I9H ArEaiEl @ qeM & fow e in Mathematics. Which of the following
¥ § #9 % geEE W 7 will help him most ingreasing his
abilities 7 .

(1) wieEr ofemet &t ol § wg (I]fﬁtlping him to prepare for
HT competitive examinations

(2) & F AT S (2) Making class monitor

(3) M ol & ot § e e (3) Teaching him additionally on

advanced topics

(4) T § e SEeEel & S (4) Helping him to develop projects

# HEgA related to Mathematics
1% F1d & [T SE/SPACE FOR ROUGH WORK
Level-2/1210 P.T.O.
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142.

143.

3t B9 ABC & AD wiftmar & afic
AC W P w5 fag 3 9% & 6 doa
(A ADP) : 85%@ (A ABD) =2 :3, @
BS%T (A PDC) : 851%w (A ABC) a7&T
2

() 1:5
@2y 5:1
(3) 1:6
4) 6:1
et o d 8 9 & we = 4 80%

TR0 Bl B0 14000 To F 3 TE
9% =eRdfE = T A 7

(1) 4634 o
(2) 3714 %0
(3) 3794 Fo

(4) 4612 %o

[42]

142.

143.

If AD is median of triangle ABC and P
is a point on AC such that area (A ADP) :
area (A ABD) =2 : 3, then area (A PDC) :
area (A ABC)isequalto:

(1) =5
2) 5:1
{3; 1:6

(4) 6:1 ®

There i1s 80% increasé in an amount in
8 years at 5ii:np‘-le interest. What will be
the compound interest of Rs. 14,000
after. 3 years at the same rate ?

(1) Rs. 4634
(2) Rs.3714
(3) Rs.3794

(4) Rs. 4612

% 4 3 U SE/SPACE FOR ROUGH WORK

Level-2/1210




[43] [B]
144, @ @Al 3 : 5 F U F ¥ 3R vds 144. Two numbers are in the ratio of 3 : 5. If
99 & gE aW g A e 3 9 be subtracted from each, then ratio
e U 12 : 23 @ o 1 fEdw between numbers becomes 12 : 23.
o g Second number is :
M 11 @) 55 M 11 2) 55
(3) 50 (4) 35 (3) 50 (4) 35
145. n 99 I OF @ 3 ad ARE 145. Sum of all interior angles of a polygon
F97 F I IOET T with n sides is equal to ;
‘ (1) (n-2)x180° (1) (m—2)x 1802
@) -;-xlﬂﬂ“ (2) iz';xmnﬂ
(3) (n+2)x 180° (3) (n+2)x 180°
@) %xlﬂﬂ“ ) gxlﬁﬂ“
% #4 % [T TE/SPACE FOR ROUGH WORK
3n 821
"’gr}Lr—'C}":H—"EH o CT = _?:_'?"%
| \
| J AR TS
S S
( 2%,
3 [ 1O PV R
Level-2/1210 L/ P.T.O.
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Prafifea oifeel & e #0-a1 @ &6
g7

146.

29.9.1,0,5,4:5, 7,5, 11,12
(1) HreA = HifeHe = I5eF
(2) wifeseHr = TET

(3) WA=5

(4) A = TG

uF wen ) @S o F A, S
deq & TEd ge $ A HOGIT
% 7% de e ¥

147.

[44]

146. Which one is correct for the following
data ?

-2,2,1,0,5,4,5,7,5,11,12
(1) Mean = Median = Mode
(2) Median = Mode

(3), Mean =3

(4) Mean=Mode

The sum of a number and its reciprocal
is equal to twice the difference of the
number and its reciprocal. The number

147.

is equal to : .
(1) 2 (1) 2
(2) 3 2),3
(3) £3 (3) =3
(4) £42 @) 42
% F4 3 BT FTESPACE FOR ROUGH WORK
)
2= )
o o] 5
| )r..f‘“'"
{ n
f‘hﬂl\/\ q,
. e
m*l.’,,b
l Gr 7 £
X
- g
3 &
-

~ Level-2/1210




[45]

148. el omaa & @=g § 60% # g @
Wl B IEe deE W@ R o

Hedl 9E, 5 SuH 8% T a6
® 7

(1) 3?:}!-%
(2) 60%
(3) 75%

(4) 120%

149. “TO[ wWEA & THT X)) gE g
TR % e 5w § Tt § 7

[B]

148. The length of a rectangle is increased by
60%. By what percent the width have to

be decreased to maintain the same
area ?

(1) 371%
2) 60%
(3) 75%
(4) 120%

149. "Mathematics is the mirror of civilization,"
This statement corresponds to which
value of Mathematics ?

| (1) o= (1) Cultural
| (2) STIeMES T (2) Disciplinary
'- (3) @I (3) Social

(4) TwiE ad (@) All of these

% % 3 [T FESPACE FOR ROUGH WORK
. St
)0

| Level-2/1210 ¢ P.T.O.

iy



[B] [46]
150. 7 1 SreggE o ey @ e 150. The organization of content in the text

2T =fe book of Mathematics should be :

(1) STE9% & SFEAR (1) According to Teacher

(2) URTEA & FER (2), According to Curriculum

(3) feenf¥di & swEr (3) According to Students )
N

(4) T8 | HiE 7 (4) None of these

®

TF & & AT FE/SPACE FOR ROUGH WORK
)

& 3 +§;4—U1
'—/d"‘ L-?{F 1%

apie D
X 7




6. NS & I, duC UE% o ditg @l # FE/AW SiW 6. Answers  to questions in answer sheet are to be given by)
aEE = 8 T‘[ﬁq‘{ g 8 aw B AR Paw omn § darkening complete circle using Black/Blue ball point pen as
shown below :
O OO O ONO,
& Zr B o o @A AE AT, OR 36T 9 @ The answer will be treated wrong, if it is marked, as given
g st o B W@ below : -
©Q O ® © ® @
C Hecoaf oy =R @F F O 3 B A anem o Note : If you fill more than one circle it will be treated
- " e mn | al as a Wrong answer. y
‘T:mﬂﬁ?ﬂ-gﬁﬁﬂﬁmH’ﬂ’ﬁ'ﬂ%ﬁl"i[riﬁTﬁﬁ]ﬁlm"TlTfi?ﬁl{Ruughwmkﬁhnuldbedunannlyinthespa:eprrwidnd

B,

in the Question Booklet for the same.), -
ol IT $99 OMR 90 950% TC 1 S F¢1 o InY @WIEE G | 3T See i A O (99T wgE) B M
fafirz B 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. No whitener

" (white fiuid) is allowed for changing answers.)

10.

12,

. T 9 & T Pu o e frmedt ¥ A oftw R $ BN OMR ST O5% W 349 OF 99 # A q G /A dh

aee ¥ # 91| 0F % o0 ofed H01 & 9% 3§ T 78 W @ &) (Out of the four alternatives forgach guestion,
only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to be changed.) @

sl gffen St 5 g9 OO0 TS B W A W @ 96 T B S FT q ame | v o SR S o A
fagifi a9 % affiss o= 7 @ | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except inthe specified space in the
Answer Sheet.) p

0§ W T W ¥ A T F, ek A oifef # (ae-ge i SR e § w0 | e, el @

4 1, o e @ Tl @ Seee) gRd 9v gRem @ ageer 9@ ST onefl | (Handle the Question

Rooklet and Answer Sheet with care, as under no cirelunstances (except for discrepancy in Question Booklet and Answer

Sheet Serial No., error in serial No. of questions afid misprinting), another set of Question Booklet will not be
* - -

provided.)

Rﬁ-gf&ﬁlfﬁ =% § Buowm owE oo oo g6 0% 'ﬁ TEET ¢ § e (The candidates will write the comect

Number as given in the Question Booklet/Answer Sheet in'the Signature Chart.)

13, st 1 i Swsaw F yEy w8 o geEm g @ ol AR W o weEer], 7 ERiETET O @l e,

o, A G, SRR SR 4 AT S e 1 ARl B @ 9 @ 99E F % 63 A8 21 (Candidates are
not allowed to carry any textual mar'e:j‘iﬂ_miﬂmﬂ or written, bits of papers, pager, mobile phone, electronic device or any
ather material except the Admit Card and Identjty, Card inside the examination hall/room.)

w

14, TEE T B T W aaw ol S sy i (W9 Ho) ot wem v R i (Bach candidate must show on demand

v IS5,

16.

his/her Admit Card (Roll No.)and identity card to the Invigilator.)

F% o 9 wHANE # e o 3 e i sedi s @ F 8921 (No candidate, without special permission of

the Superintendent or Invigilator, should leave histher seat.) i

T S @) e S GRS R e of e = o dem e fen B ot gl dw w8 82 aR R

el T A SR S TGS A B O 48 W O B I 9T T A8 ser B oo 9 s A1 6

e A1 T *OMR SER.us # Praiftd e ot sieen eraiidl @ o g @ yew sriddl @ 99 6§
13 %1 M Inkless Pad & mar e 21 whendt & 0% o) SR ¥ Pom @R § ovE 9@ W A

o T T 9| (The candidates should not leave the Examination Hall without handing over their Answer Sheet

to the [avizilator on duty and sign the Signature Chart twice. Cases where a candidate has not signed the Signatire Chart

i second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. Female
- eandidates have to affix right hand thumb impression whereas male candidates have to affix left hand thumb
_ impression on the OMR answer sheet at the place specified with Inkless Pad. The candidate must not affix his/her

17
18.

19,

20,

thumb impression again on the already affixed one.) = !

Eﬂ’ﬁﬁﬂ_}mﬁﬁ giteas 31 399 af¥fa # | (Use of Electronic/Manual Calculator is prohibited.)

ol 2R ST & o, vt fadte 3 A o o /Re-Re @ & @ ad P o RS @ R e @) s
HIE % W e 9 Gee 9 § Feel of BFEt $ S 80 (The candidates are governed by Guidelines/Procedure
given in the.Information Bulletin, all Rules and Régulations of the Board with regard tc their conduct in the Examination
Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

Pl wi § we-gftaE olIC 3L SSF T HE 90T S T %11 (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances) b .

qfiEn T B 0, Sl el By @ o o E ee-Tes @ ome A %) ol o A W eI W |

&1 8553 %1 (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the

Room/Hall. The candidates are allowed to'take away this Question Booklet with them.)

i




